36. Ratios – Gearing
1. Fill in the gaps.

Gearing measures a firm’s dependence upon ___________________.  It is done by measuring the firm’s long term liabilities as a percentage of its _______________________ employed.  If gearing is 25%, therefore, it means that a quarter of the firm’s capital is ____________________.  A firm is considered to be highly geared if loans are more than half the capital employed. High gearing may make it difficult for a firm to meet interest payments, especially in a period of poor trading or when _____________________ rates rise. Gearing is considered to be rather too high when it gets above __________%.  Shareholders are interested in gearing and also liquidity (to measure the firm’s financial ________________).  Words from: interest, health, capital, debt, 50, borrowed 
2. Gearing - Cause, Effect or Neither.
Would each of the following be a cause of higher gearing, or an effect, or neither? Put a C, an E or an N by each.

	2.1 High overhead costs
	
	2.5 A threat to survival when loans must be repaid
	

	2.2 Taking out an additional long term loan
	
	2.6 Increases variable costs
	

	2.3 Introducing 5% price increases 
	
	2.7 Financing a take-over by loan capital
	

	2.4 The business making a loss after tax
	
	2.8 May help finance rapid growth
	


3. True or false? 
3.1 In the lead-up to the Credit Crunch, most of the major banks in America and Britain had gearing as high as 80-90%.
3.2 A firm with zero gearing is implying that it cannot see how to make a higher rate of return than the cost of borrowing capital (the interest rate). In which case, should the business exist at all?

3.3 A firm with 80% gearing is vulnerable because only 20% of its capital employed is its own money (the rest is borrowed). So one year of bad losses may wipe it out completely.

3.4 A firm with 33% gearing is safe because its rate of return is well above the cost of capital (the interest rate).

3.5 Capital employed consists of loan capital, share capital and reserves (accumulated, retained profit)
4.  Calculations

4.1 A firm has £400,000 of long term loans, £100,000 of share capital and £500,000 of reserves. Calculate its gearing level.
______________________________________________________________________________________
4.2 A firm has loans: £40,000, share capital: £10,000, reserves: £30,000 and fixed assets of £80,000.

a) Calculate the gearing level



   __________________________________________________________
b) What would be the new gearing level, if the firm borrowed an extra £20,000?



  ___________________________________________________________
5. Key Questions
5.1 Why are new, small firms likely to be highly geared? _____________________________________________

______________________________________________________________________________________
______________________________________________________________________________________

5.2 Outline two ways in which a highly geared firm could cut its gearing level _____________________________
______________________________________________________________________________________
______________________________________________________________________________________

5.3 Explain one reason why share buyers might be concerned about a business that has zero gearing. ______________________________________________________________________________________
______________________________________________________________________________________
36. ANSWERS: Ratios – Gearing  
1. debt or loans or borrowings, capital, debt/borrowed, interest, 50%, health
2.1 E    

2.2 C    
2.3 N    
2.4 C    
2.5 E    
2.6 N    
2.7 C    
2.8 C

3.1 T

3.2 T

3.3 T

3.4 F

3.5 T

4.1 £400,000/£1,000,000 x 100 = 40%

4.2a) 50%   
4.2b) 60% (loans of £60,000 out of capital employed of £100,000, i.e. note that the capital employed increases as well as the loans figure)
5.1 They have not yet built up the accumulated profit to boost the capital employed (and offset the debts)

5.2 Stop paying dividends to shareholders, keeping the cash to repay some of the bank loans; sell off assets and use the proceeds to pay off some loans.

5.3 They may be puzzled that the management seems to have so little faith in the future of the business that they are unwilling to borrow anything to invest in the firm’s future.
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